Pre-Calculus 12 Name:
Ch.5 - Trigonometry

1-5.3 Practice Questions

1.

Multiple Choice
Identify the choice that best completes the statement or answers the question.
Convert 37 radians to degrees. w2 - X = 21080
180 X o
a. 0.16° @ 540° o
b. 9.42° d. 1080° K= %180 =|540°|
Convert 420° to radians.
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Given a circle with radius 10 cm, calculate the length of the arc which contains a sector angle 6 =2 radians,
a. Smcm c. 10cm Use as=re
b. 107 cm @ 20 cm . q= rom>(25
a=|20cm |
A circle has a radius of 4 cm. If the length of arc AB is 37 cm, determine the measure of the central angle in
radians. r=Acm
37 3z Q= 2 cm
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A circle has a radius of 20 cm. Determine the length of the arc subtended by a central angle of 135°.
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7. Find the reference angle for 210°,
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8. Determine the exact value of tan——
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9. Determine the exact value of sin(—%’r ]
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10. Solve: cscx=2,0<x <27
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11. What is (are) the restriction(s) for the expression Sifix ? ==

Sin;( —

a. secx=z0 c. cosxz0
b. sinx=z0 sinx # 0, cosx# 0

12. Ifcse x>0 and cotx <0, in which quadrant does the terminal side of position angle x lie?

a. 1 c. 1III csex s “ve i quac\ b o
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- Cotx s "Ve in quad T, I
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13. Ifsinx = 7 determine the smallest positive angle x, in radians. . b ' % Slnx = /4
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¢ Pun x=sin (X
a. 068 () 08s = (%)
b. 0.72 d. 147 ’_ x= 0.85
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14. For what value of x is —2%— undefined, where 0 < <2
- For what value of x is 7=~~~ undefined, where 0 <x <27. l*cosx # 0
X 0 @ . cosx ¥ -1
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15. Given sin 8= 3 and sec 6 <0, determine the ratio for cot 4. 4ine = 4/5 ta CUMA Tor
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Short Answer ( SHOW YOUR WORK) I ¥=15-16 |
x= A

16. Determine one positive and one negative coterminal angle to —250°

X="3
=260 +260 = \\O°

-250-240" = —5I0°
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17. Determine one positive and one negative coterminal angle to —
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18. Determine the exact value of tan—— without a calculator.
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19. Determine the exact value of csc 3 without a calculator.
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21. Determine the exact values of the coordinates of the point that is 5 units from the origin in the quadrant IV, if @ is
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a positive angle and csc 8 = —, _ ~

. Xre ()= 6%
| Xtt 6=15
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